



JAL SHAKTI DEPARTMENT OFFICE OF THE EXECUTIVE ENGINEER FBI DIVISION TANGMARG



OFFICE PHONE NO.01954-254611 EMAIL ADDRESS: FBIDIVISIONTANGMARGOGMAIL.COM

Allotment No: - 32- PHE Dated: -04-12-2024

M/S:- Mr. Faroog Ahmad Magray

S/O:-Ghulam Mohammad Magray

R/O:- Druroo Tangmarg

GST No:- 01AHVPM4816A1ZM

Regd No: SE/HYD/Sgr/AAY/Class-230/Civil of 2004-05.

Class of Contract: - AAY

Name of Work:-Providing, laying of D.I/G.I Raw water main, supply main, Distribution system on identified spots along with pipe accessories including construction/revamping/restoration of RSF Plant along with allied structures/ Sluice chamber and other required structures as per BOQ with jacketing of Service reservoirs, construction of intake works for WSS Kunzer town including operation and maintenance for five years (Under Amrut 2.0).

Amount of work as per E-NIT: Rs.137.37 Lacs

Amount of work as per Allotment: Rs.12899727/-(Rupees One Crore Twenty Eight Lacs Ninety-Nine Thousand pSeven hundred Twenty-Seven only)

M.H of Account:-Amrut 2.0

Time of Completion: -120 days

Tender ID: 2024 IFC 257295 1

Reference to e-NIT No. No.13 of 2024-25. Issued vide endorsement No:-FBID/3271-91

Dated: -14.08.2024

Reference to CDR No. 2738)5 Dated: - 23/08/2024 Amount: - 275000/400

For and on behalf of Lt. Governor of Jammu and Kashmir the Contract for above noted work is hereby fixed with you on the following rates as quoted rates by you and the terms and conditions given below:-

SI.No	Description of Work / Item(s)	Qty	Units	Estimated Rate	Amount
1	Earth work in excavation by mechanical means (hydraulic excavator) in trenches for foundations, drains, pipes, cables etc. (not exceeding 1.5 m in width) and for shafts, wells, cesspits and the like not exceeding 10 sqm on plan, including dressing of sides and ramming of bottoms lift upto 1.5 m, including getting out excavated earth and disposal of surplus excavated earth as directed, within a lead of 50 metres All kinds of soil:	750	Cum	256.85	192637.500

Afreena

1.01	Ordinary Rock	96.6	Cum	493.5	47672.100
2	Earth work in bulk excavation by mechanical means (hydraulic excavator) over areas (exceeding 30 cm in depth, 1.5 m in width as well as 10 m2 on plan) including disposal of excavated earth lead upto 50 meters and lift upto 1.5 m, as directed by Engineer-in-Charge. All kinds of soil	49.4	Cum	187.3	9252.620
3	Earth work in excavation by manual means in trenches for foundations, drains, pipes, cables etc. (not exceeding 1.5 m in width) and for shafts, wells, cesspits and the like not exceeding 10 sqm on plan, including dressing of sides and ramming of bottoms lift upto 1.5 m, including getting out excavated earth and disposal of surplus excavated earth as directed: 1 meter from cutting edge All kinds of soil:	360	Cum	479.3	172548.000
4	Providing and laying of stone soling including ramming, consolidating & levelling all complete.	3.01	Cum	1320	3973.200
5	Filling available excavated earth (excluding rock) in trenches, plinth, sides of foundations etc. in layers not exceeding 20 cm in depth, consolidating each deposited layer by ramming and watering, lead upto 50 m and lift upto 1.5 m.	968.42	Cum	218.4	211502.928
6	Providing and laying S&S Centrifugally Cast (Spun)/ Ductile Iron Pipes conforming to IS: 8329 100 mm dia Ductile Iron Class K - 7 Pipes	2000	М	1500	3000000.000
7	Providing and laying S&S Centrifugally Cast (Spun)/ Ductile Iron Pipes conforming to IS: 8329 200 mm dia Ductile Iron Class K - 7 Pipes	500	М	2530	1265000.000
8	Providing and fixing C.I. double acting air valve PN - 1.6 marked with IS 14846 of approved quality with bolts, nuts, rubber insertions etc. complete confirming ti I.S. 14845 80 mm dia	1	Each	6242.9	6242.900
9	Providing and fixing cast iron double flanged sluice valves PN -1.6 marked with IS 14846 including nuts and bolts marked with IS 1363, rubber sheet marked with IS 638 etc carriage, loading, unloading, stacking, handling, rehandling etc complete in all respect to the satisfaction of engineer in charge 100 mm dia. Class II	4	Each	10815	43260.000
10	Providing and fixing cast iron double flanged sluice valves PN -1.6 marked with IS 14846 including nuts and bolts marked with IS 1363, rubber sheet marked with IS 638 etc carriage, loading, unloading, stacking, handling, rehandling etc complete in all respect to the satisfaction of engineer in charge 200 mm dia. Class II	2	Each	20243	40486.000
11	Providing and laying D.I. standard specials such as tees, bends, collars, tapers, caps etc. suitable for flanged jointing as per IS: 9523 (as per site requirement) Upto 600 mm dia.	3.17	QtI	17102	54213.340
12	Providing and fixing G.I. pipes complete with G.I. fittings excluding trenching and refilling etc. (950	mtr	206.5	196175.000
	B-Medium) 15 mm dia. nominal bore				9



/		
ζ,	<i>z</i>	\
1	٧Q	2
	/	1

12.01	20 mm dia. nominal bore	1740	mtr	255.2	444048.000
12.02	25 mm dia. nominal bore	1700	mtr	339.25	576725.000
12.03	40 mm dia. nominal bore	1000	mtr	489.25	489250.000
12.04	80 mm dia. nominal bore	1355	mtr	1151.2	1559876.000
13	Making connection of G.I. distribution branch with G.I. main of following sizes by providing and fixing Tee, including cutting and threading the pipe etc. complete 25 to 40 mm nominal bore	250	Each	730.25	182562.500
13.01	50 to 80 mm nominal bore	30	Each	1387.25	41617.500
14	Providing and fixing gun metal non-return valve of approved quality (screwed end) vertical 25 mm dia. nominal bore	2	Each	640.6	1281.200
14.01	40 mm dia. nominal bore	2	Each	1298.2	2596.400
14.02	80 mm dia. nominal bore	2	Each	3546.45	7092.900
15	Providing and fixing gun metal gate valve with C.I. wheel of approved quality (screwed end) 80 mm dia. nominal bore	2	Each	2605.15	5210.300
16	Providing push-on-joints to Centrifugally (Spun) Cast Iron Pipes or Ductile Iron Pipes including testing of joints and including the cost of rubber gasket. 200 mm Dia DI Pipe	93 : 194	Each	221.9	20636.700
16.01	100 mm Dia DI Pipe	364	Each	94.8	34507.200
17	Providing and fixing of MS fittings viz bends of suitable degree, tees, collars, MS boxes etc., to be fabricated from 6 mm nominal size MS Plate as per the requirement of site incl. cost of welding. The work should be leakproof and should be painted with anticorrosive red oxide primer complete job.	600	Kg	147.82	88692.000
18	Providing and fixing of Flanged DI tail Piece incl. nut and bolts & washers complete job. 200 mm dia	2	Each	2000	4000.000
18.01	150 mm dia	2	Each	1300	2600.000
18.02	100 mm dia	10	Each	1000	10000.000
19	Providing and fixing of pipe specials incl. all carriages. Elbow 40 mm	20	Each	250	5000.000
19.01	Elbow 25 mm	20	Each	200	4000.000
19.02	Elbow 20 mm	20	Each	150	3000.000
19.03	Union 40 mm	10	Each	350	3500.000
19.04	Union 25 mm	10	Each	250	2500.000
19.05	Union 20 mm	10	Each	150	1500.000
19.06	Reducer 40-25 mm	5	Each	140	700.000
19.07	Reducer 25-20 mm	5	Each	110	550.000
19.08	Nipples 40 mm	50	Each	60	3000.000



19.09	Nipples 25 mm	50	Each	50	2500.000
19.10	Nipples 20 mm	50	Each	40	2000.000
20	Providing and laying in position cement concrete of specified grade including curing butexcluding the cost of centring and shuttering. All work upto plinth level with: 1:4:8 (1 cement : 4 coarse sand : 8 graded stone aggregate 40 mm nominal size)	1.74	Cum	5202.9	9053.046
21	Providing and laying in position specified grade of reinforced cement concrete including curing but excluding the cost of centering, shuttering, finishing and reinforcement. All works upto plinth level: 1:1½:3 (1 cement: 1½ coarse sand: 3 graded stone aggregate 20 mm nominal size)	26.53	Cum	7788.4	206626.252
22	Reinforced cement concrete work in walls (any thickness) including attached pilasters, buttresses, plinth and string courses, fillets, columns, pillars, piers, abutments, posts and struts upto floor five level including curing but excluding cost of centering shuttering, finishing and reinforcement.1:1½:3 (1 cement: 1½ coarse sand: 3 graded stone aggregate 20 mm nominal size)	26.78	Cum	9395.7	251616.846
23	Reinforced cement concrete work in beams, suspended floors, roofs having slope upto 15°, landings, balconies, shelves, chajjas, lintels, bands, plain window sills, staircases and spiral stair cases upto five level including curing but excluding the cost of centring, shuttering, finishing and reinforcement with 1:1½:3 (1 cement: 1½ coarse sand: 3 graded stone aggregate 20 mm nominal size)	31.15	Cum	9821.85	305950.628
24	Providing and laying in position machine batched and machine mixed design mix M-25 grade cement concrete for reinforced cement concrete work, using cement content as per approved design mix, including pumping of concrete to site of laying but excluding the cost of centering, shuttering, finishing and reinforcement, including admixtures in recommended proportions as per IS: 9103 to accelerate, retard setting of concrete, improve workability without impairing strength and durability as per direction of Engineer-in charge. Note: - Cement in this item is @ 330 kg/ cum. Excess or less cement used as per design mix is content considered payable or recoverable separately. All works upto plinth level	1.57	Cum	8021.1	12593.127
24.01	All works above plinth level upto floor V leve	1.88	Cum	9412.05	17694.654
25	Extra for providing richer mixes at all floor levels. Note:- Excess/ less cement over the specified cement content used is payable/ recoverable separately. Providing M-30 grade concrete instead of M-25 grade BMC/RMC. (Note:- Cement content considered in M-30 is @ 340 kg/cum)	3.45	Cum	98.8	340.860

		50		198	THE PARTY OF THE P
35	Providing and Laying shrouding fresh filter media in rapid sand filtration plant, the filter sand shall be of hard and resistant quartz or quartzite and free of clay, fine particles, soft grain and dirt of every discription effective size shall 0.45 to 0.70 mm uniformity of coefficient shall not be more than 1.7 nor less than 1.3 silicon content should not be less. The filter gravel should be in sieves and spherical, hard, clean and uniform in quality. The filter gravel should not contain impurity such as dirt and clay. Size of gravel should be of 20 to 50 mm. The item of work includes all carriages and lifts from ganderbal to actual site of work. 50 to 20 mm	4.42	Cum	9000	39780.000
35.01	12mm-1mm	4.42	Cum	9000.00	39780.000
35.02	Filter Sand	8.83	Cum	9000.00	79470.000
36	Electrical Items:Supplying and fixing of 25mm dia. medium class PVC conduit along with accessories in surface/recess including cutting the wall and making good the same in case of recessed conduit as	150.00	m	103.50	15525.000
37	Providing and carrying out wiring for light point/ fan point/ exhaust fan point/ call bell point with 1.5 sq.mm FRLS PVC insulated copper conductor single core cable in surface / recessed medium class PVC conduit, with modular switch, modular plate, suitable GI box and earthing the point with 1.5 sq.mm FRLS PVC insulated copper conductor single core cable	30.00	Point	824.55	24736.500
38	etc. as required. (excl. cost of conduit) Providing and carrying out wiring for twin control light point with 1.5 sq.mm FRLS PVC insulated copper conductor single core cable in surface / recessed medium class PVC conduit, 2-way modular switch, modular plate, suitable GI box and earthing the point with 1.5 sq.mm FRLS PVC insulated copper conductor single core cable etc. as required. (excl	7.00	Point	1215.55	8508.850
39	cost of conduit) Providing and carrying out wiring for heating points with 4.0 sq.mm FRLS PVC insulated copper conductor single core cable in surface / recessed medium class PVC conduit, modular combined S&S 16Amp along with modular plate, suitable GI box and earthing the point with 2 sq.mm FRLS PVC insulated copper conductor single core cable etc. as required.	10.00	Point	1300.00	13000.000
40	(excl cost of conduit) Providing and carrying out circuit/ submain wiring along with earth wire with the following sizes of FRLS PVC insulated copper conductor, single core cable in surface/ recessed medium class PVC conduit as required. (excl. cost of conduit) 2 x 4 sq. mm + 1 x 4 sq. mm earth wire	25.00	m	230.00	5750.000

				1	2027.358
26	Centering and shuttering including strutting, propping etc. and removal of formwork for: Foundations,	7.08	Sqm	286.35	2027.358
26.01	footings, bases of columns etc. for mass concrete. Walls (any thickness) including attached pilasters,	221.11	Sqm	628.95	139067.135
26.02	buttresses, plinth and string courses etc. Suspended floors, roofs, landings, balconies and	270	Sqm	718.2	193914.000
27	access platforms Steel reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete Thermo-Mechanically Treated bars of grade Fe-500D or more.	6908.79	Kg	123.2	851162.928
28	Structural steel work in built up sections, trusses and framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete. Welded	2759.96	Kg	138.2	381426.472
29	12mm Cement plaster finished with a floating coat of neat cement of mix: 1:3 (1 cement: 3 fine sand)	383.61	Sqm	370.75	142223.408
30	12mm Cement plaster finished with a floating coat of neat cement of mix: 1:4 (1 cement: 4 fine sand)	23.13	Sqm	353.1	8167.203
31	Providing and mixing integral crystalline admixture for water proofing treatment to RCC structures like basement raft, retaining walls, reservoir, sewage & water treatment plant, tunnels / subway and bridge	12 1	, a	on participation of the second	
	deck etc. at the time of transporting of concrete into the drum of the ready-mix truck, using integral crystalline admixture @ 0.80% (minimum) to the weight of cement content per cubic meter of concrete) or higher as recommended by the manufacturer's specification in	to the second		F. A	
	reinforced cement concrete at site of work. The material shall meet the requirements as specified in ACI-212-3R-2010 i.e. by reducing permeability of concrete by more	709.01	Kg	330.95	234646.860
	than 90%, compared with control concrete as per DIN 1048 and resistant to 16bar hydrostatic pressure. The crystalline admixture shall be capable of self-healing of cracks up to a width of 0.50mm. The work shall be carried out all complete as per specification and the direction of the Engineer-in-charge. The product performance shall carry guarantee for 10			A in	
32	years against any leakage Dismantling steel work in built up sections in angles, tees, flats and channels including all gusset plates, bolts, nuts, cutting rivets, welding etc. including dismembering and stacking within 50 meters lead.	10000	Kg	4.3	43000.000
33	Dismantling roofing including ridges, hips valleys and gutters etc., and stacking the material within 50 meters lead of :G.S. Sheet	230	Sqm	125.35	28830.500
34	Cleaning of under ground sump, Over Head R.C.C. Tank (independent staging) including disposal of slit and rubbish, all as per direction of Engineer-in-Charge. The cleaning shall consist following operations:(i)Tank shall be emptied of water by pumping & bottom shall be cleaned of silt and other deposits. (ii) Entire surface area of the sump shall then scrubbed thoroughly with wire brush etc. and pressure washed with water.	168.02	Sqm	64.35	10812.087



	Continue of the size Cl boy with		T		C004 000
41	Supplying and fixing suitable size GI box with modular plate and cover in front on surface or in recess, including providing and fixing 6 pin 5/6A & 15/16 A modular socket outlet and 15/16 A modular switch, connections etc. as required.	12.00	No.	569.25	6831.000
12	Supply and fixing of two module stepped type Electronic Fan regulator on the existing modular plate switch box including connections but excl cost modular plate etc., as required.	3.00	No.	393.30	1179.900
13	Supplying and fixing single pole 5 A to 32 A rating, 240V, 10 kA, "C" curve, miniature circuit breaker suitable for inductive load in the MCB DB complete with connections, testing and commissioning etc. as required.	12.00	No.	228.85	2746.200
44	Supplying and fixing double pole 63 Amp 240V, 10 kA, "C" curve, miniature circuit breaker suitable for inductive load in MCB DB complete with connections, testing and commissioning etc. as required.	4.00	No.	442.75	1771.000
45	Supplying and fixing 3 pin, 5 A ceiling rose on the existing junction box/ wooden block including connections etc. as required	4.00	No.	74.75	299.000
46	Supply of 24-Watt LED slim aluminum panel surface type complete in all respects.	4.00	No.	600.00	2400.000
47	Supply of 1200 mm sweep Ceiling Fans complete in all respects. Confirming to relevant Indian Standards	1.00	No.	2125.00	2125.000
48	Supply of 200 mm nominal sweep Exhaust Fans including shutter from outside complete.Confirming to relevant Indian Standards	3.00	No.	1550.00	4650.000
49	Installation, testing and commissioning of pre-wired, fluorescent fitting/ compact fluorescent fitting of all types, complete with all accessories and tube/lamp etc. directly on ceiling/ wall, including connections with 1.5 sq. mm FRLS PVC insulated, copper conductor, single core cable and earthing etc. as required.	1.00	No.	193.20	193.200
50	Supplying and fixing 12-way double door, single pole and neutral, sheet steel, MCB distribution board, 240 V, on surface/ recess, complete with tinned copper bus bar, neutral bus bar, earth bar, din bar, interconnections, powder painted including earthing etc. as required. (But without MCB/RCCB/Isolator)	3.00	No.	2360.95	7082.850
51	Providing, fitting and testing of LED flood light IP65 30W rating to pre-wired electric points on the outside of the Filter House building.	8.00	No.	1500.00	12000.000
52	Providing and fitting at site 3-phase, Voltage stabilizer of following ratings, oil emersed, of standard make and quality including accessories as required. The job includes making of connections with main panel board and service line. To be paid in fitted and finished form after testing on full load capacity, complete job. 30 KVA	1.00	Job	47000.00	47000.000

53	Providing and fitting of panel board with angle iron supports and A.C. sheets for fixing of MCCB, change over switch, bus bars etc. The job includes nuts bolts and embedding of supports in cement concrete	2.00	Job	4250.00	8500.000
54	blocks complete job. Providing and fitting of: 100 Amp 4 pole change over	1.00	No	7598.00	7598.000
54.01	of reputed make. 100 Amp-Copper bus bar	1.00	No	4550.00	4550.000
54.02	100 Amp MCCB	2.00	No	3300.00	6600.000
54.03	63 Amp MCCB	2.00	No	2700.00	5400.000
54.04	40 Amp MCCB	2.00	No	2100.00	4200.000
54.05	16 Amp MCCB	4.00	No	1250.00	5000.000
54.06	6 Amp MCCB	4.00	No	630.00	2520.000
54.07	3-phase indicator points	2.00	No	445.00	890.000
54.08	3-phase voltmeter and Amperemeters	2.00	No	1190.00	2380.000
55	Mechanical Items:Providing & fixing of PVC under drainage laterals with specifications conforming to IS-4985 & IS-15801, 8mm thick fabricated out of approved make with nominal dia of 9mm perforations as per design of bed provided at 60 degrees along with PVC Tees and end caps grouted in concrete, the pressure rating of 10kg/sq cm 75 mm dia	80.00	m	1420.00	113600.000
56	Mixing device with reduction gear system 1.0 HP	1.00	No	4800.00	4800.000
56.01	Foundation \ Base plate	1.00	Set	4548.00	4548.000
56.02	Starter along with necessary wiring upto motor	1.00	No	1680.00	1680.000
57	Providing, fitting, testing and commissioning of following itemn for Alum Dosing Unit- Mixing device with reduction gear system.	1.00	Set	2500.00	2500.000
57.01	1.0 HP	1.00	No	4800.00	4800.000
57.02	Foundation / Base plate	1.00	Set	4548.00	4548.000
57.03	Starter along with necessary wiring upto motor	1.00	No	1680.00	1680.000
57.04	P.V.C outlet, overflow system with fittings upto point of application	1.00	Lot	530.00	530.000
57.05	150mm dia drain out let	1.00	Lot	1350.00	1350.000
57.06	50 mm dia Service water piping.	1.00	Lot	530.00	530.000
57.07	Constant dozing unit with time device	1.00	Set	1500.00	1500.000
57.08	Manually operated hoist	1.00	Set	10000.00	10000.000
58	Providing, fitting, testing and commissioning of following itemns for Chlorine Dosing Unit- Mixing device with reduction gear system.	1.00	Set	2500.00	2500.000

64	Will G.I. Hillings excluding trendring and remaining execution	50.00	mtr	235.00	11750.000
35	(external work): 20mm dia. nominal bore Cement Plaster with a floating coat of neat cement 15mm Cement plaster on the rough side of single or half brick wall of mix:1:4 (1 cement: 4 fine sand)	50.00	Sqm	282.44	14122.000
56	Cement concrete flooring 1:2:4 (1cement: 2 coarse sand: 4 graded stone aggregate) finished with a floating coat of neat cement including cement slurry and curing complete, but excluding the cost of nosing of steps etc. complete.50 mm thick with 20mm nominal size stone aggregate.	20.00	Sqm	517.02	10340.400
67	Providing and fixing aluminum work for doors, windows, ventilators and partitions with extruded built up standard tubular sections/appropriate Z sections and other sections of approved make conforming to IS: 733 andIS: 1285, fixed with dash fastener of required dia. and size including necessary filling up of gaps at junctions i.e, at top, bottom and sides with required EPDM rubber / neoprene gasket felt etc. Aluminum sections shall be smooth, rust free, straight, mitred and jointed mechanically wherever required including cleat angle, Aluminum snap beading forglazing / panelling, C.P. brass / stainless steel screws, all complete as architectural drawings and the directions of Engineer-in-Charge (glazing, panelling and dash fasteners to be paid for separately.): Polyester powder coated aluminum (minimum thickness of polyester powder coated 50 microns)	200.00	Kg	611.02	122204.000
68	Applying priming coat::With ready mixed pink or grey primer of approved brand and manufacture on wood work (hard and soft wood)	61.00	Sqm	55.92	3411.120
69	Painting with synthetic enamel paint of approved brand and manufacture to give an even shade.:Two or more coats on new work	61.00	Sqm	114.65	6993.650
70	Finishing with Epoxy paint (two or more coats) at all locations prepared and applied as per manufacturer's specifications including appropriate priming coat, preparation of surface, etc complete: (On concrete work)	600.00	Sqm	177.47	106482.000
71	Distempering with oil bound washable distemper of approved brand and manufacture to give an even shade on new work(two or more coats) over and including priming coat with water thinable cement primer	181.80	Sqm	140.11	25471.998
72	Supply and Fixing of Kota Stone all complete	20.00	Sqm	4230.14	84602.800
73	Supply and fixing of Ceramic Glazed Tile	30.00	Sqm	1156.24	34687.200
74	Chemical coating for all water retaining structures all complete job	1.00	Job	28200.96	28200.960
75	Labour Charges for cleaning of filtration plant all complete (30*600)	30.00	No	564.02	16920.600



58.01	3-phase electrically driven motors: 0.5 HP	1.00	No	2800.00	2800.000
58.02	0.75 HP	1.00	No	3400.00	3400.000
58.03	1.0 HP	1.00	No	4800.00	4800.000
58.04	Foundation / Base plate.	1.00	Set	4548.00	4548.000
58.05	P.V.C outlet, overflow system with fittings upto point	1.00	Lot	530.00	530.000
58.06	of application. Starter along with necessary wiring upto motor	1.00	No	1680.00	1680.000
58.07	150 mm dia Drain out let	1.00	Lot	1350.00	1350.000
58.08	50mm dia service water piping	1.00	Lot	530.00	530.000
58.09	Constant dozing unit with time device.	1.00	Set	1500.00	1500.000
59	Providing fitting, testing and comissioning of air blower standard make ISI mark capable of providing compression @ 0.35 kgs/sqcm coupled with suitable 3 phase induction electric motor complete with auxiliary pipe system upto filter beds with pressure guage, Nozzles, foundation block, base plate, air check valve, non- return valve, Starter etc 8.2 KLPM Air blower with 7.5 HP Motor.	1.00	No	125000.00	125000.000
60	Supply installation and successful testing and commissioning of mono block pumping unit standard make ISI mark coupled with 2 phase induction motor with appropriate pumping capacity so as to fill the tank within the max. of 2 hours with nominal dynamic head of 25m along with all accessories like foot valves, non- return valves, foundation block, base plate, suction pipe, suitable rising main with nominal dia 50mm (class-B) with heavey duty valves and other accessories required for the job. Pumping unit with 7.5 HP Motor.	1.00	Set	29115.00	29115.000
61	Central axle turn table with double bearing and guide for incoming cable.	1.00	Set	4800.00	4800.000
62	Peripheral drive assembly with following motors, gear box, rollers, drive trolly (60:1 reduction gear box). Pumping unit with 2.0 HP Motor.	1.00	Set	19120.00	19120.000
62.01	Pumping unit with 7.5 HP Motor.	1.00	Set	33115.00	33115.000
62.02	Starter along with necessary wiring upto motor	1.00	No	1680.00	1680.000
62.03	1.0 HP	1.00	No	7300.00	7300.000
62.04	Incoming cable, telescopic electric pole with rotary current collector	1.00	Set	6500.00	6500.000
63	Providing and laying of Al armoured cable 50mm, 3.5 core for main service line of reputed make in P.V.C pipes of required dia to accommodate the service line including bends etc., from main transformer to the main panel board including copper thimbles, earth work excavation and filling for laying of cable complete including Termination, Thimbles, complete in all respects	100.00	Mtr	460.62	46062.000



6	CARRIAGE OF MATERIALS By Mechanical				12200.000
	Transport including loading, unloading and stacking avg lead 10 km 100 mm D.I. pipes	2000	М	6.1	12200.00
76.01	200 mm D.I. pipes	500	M	10.17	5085.000
	Cement, stone blocks,G.I. C.I., A.C., Stainless Steel & C.C. pipes below 100 mm dia and other heavy materials	73	Tonne	248.03	18106.190
	Sand, stone aggregate below 40 mm nominal size	609.65	Cum	279.04	170116.736
77	CARRIAGE OF MATERIALS By Manual means loading, unloading and stacking avg lead 100 m 200 mm D.I. pipes	500	М	4.54	2270.000
77.01	Cement, stone blocks,G.I. C.I., A.C., Stainless Steel & C.C. pipes below 100 mm dia and other heavy materials	22.85	Tonne	168.01	3839.029
77.02	Operation and Maintenance Charges for Successful testing, commissioning of RSFP, SR and other allied structures incl. maintenance of raw water main, supply main, distribution system as per requirement of site and instructions of Engineer incharge for smooth functioning of Water supply scheme complete job for five years(Payment will be made as per payment schedule in NIT).	1	Job	669000	669000.000
			T	otal Amount	= 13737729 /
	Allotteda	0 - 6.1%			rates.83800 /

Rates & Quantity

Checked H.D

Technical Offi

NetAmount =12899727/-

Afreena

B-TERMS AND CONDITIONS: -

- 1. The contractor is directed to attend divisional office along with his registration card for drawl of an agreement with the department within seven days after issue of this allotment order. The date of start of work shall be reckoned as communicated by the concerned Assistant Ex. Engineer from the issuance of allotment order /L.O. I which ever is earlier.
- 2. The contractor shall not claim for any damages etc. due to shortage/non availability of funds.
- 3. All other terms and conditions shall remain same as per detailed NIT issued by this office and PWD form No: -25 and GRF-2017 and its amendments.
- 4. If the contractor fails to start the work no further notices shall be served, his CDR shall be forfeited immediately & black listing of Registration card shall be recommended.

No: - FBID/DB/CC/5500-10 Dated: 04.12. 2024 Technical Officer

COPY TO THE: -

- Chief Engineer Kmr. Jal Shakti (PHE) Department Srinagar for favour of information.
- Superintending Engineer Hyd. Circle District Baramulla H.Q. Sopore for favour of 2. information.
- Asstt. Executive Engineer PHE Sub Division Tangmarg for information. He is directed to ensure speedy completion of work as per approved drawings, design and specifications.
- Asstt. Accounts Officer for information.
- H.D divisional office for information.